

RIMBEY REG TUES SALE

Lot	Pen	Description	Avg WT	Total WT	Hauled	Feed	Health	Owner	Buyer	Price
1	A1	8 BLK HEIFER	819.62	6557	10KM	2-3LBS ROLLED BARLEY & CEREAL SILAGE, WEANED NOV 1	VISTA 5 & 8 WAY IN SPRING & FALL, NO IMPLANTS, OPEN HFRS, ANGUS X	CRAIG BUTCHER		
2	A2	4 BLK HEIFER	754.25	3017	10KM	2-3LBS ROLLED BARLEY & CEREAL SILAGE, WEANED NOV 1	VISTA 5 & 8 WAY IN SPRING & FALL, NO IMPLANTS, OPEN HFRS, ANGUS X	CRAIG BUTCHER		
3	A3	6 MXD STEER	763	4578	12KM	SILAGE, STRAW & 5LBS BARLEY /DAY, WEANED 1ST WEEK NOV	VISTA ONCE, 8 WAY W/SOMN, SAFEGUARD, CLEAN UP 2 & COMPNENT IMPLANT IN NOV, MAJORITY BANDED AT BIRTH, SOME BANDED IN NOV/DEC, APR/MAY BORN	SARGEANT CATTLE CO. LTD.		
4	A4	6 MXD STEER	668.5	4011	12KM	SILAGE, STRAW & 5LBS BARLEY /DAY, WEANED 1ST WEEK NOV	VISTA ONCE, 8 WAY W/SOMN, SAFEGUARD, CLEAN UP 2 & COMPNENT IMPLANT IN NOV, MAJORITY BANDED AT BIRTH, SOME BANDED IN NOV/DEC, APR/MAY BORN	SARGEANT CATTLE CO. LTD.		
5	A5	4 MXD STEER	576	2304	12KM	SILAGE, STRAW & 5LBS BARLEY /DAY, WEANED 1ST WEEK NOV	VISTA ONCE, 8 WAY W/SOMN, SAFEGUARD, CLEAN UP 2 & COMPNENT IMPLANT IN NOV, MAJORITY BANDED AT BIRTH, SOME BANDED IN NOV/DEC, APR/MAY BORN	SARGEANT CATTLE CO. LTD.		
6	A6	8 MXD HEIFER	907.5	7260	12KM	SILAGE, STRAW & 5LBS BARLEY /DAY, WEANED 1ST WEEK NOV	VISTA ONCE, 8 WAY W/SOMN, SAFEGUARD, CLEAN UP 2 & COMPNENT IMPLANT IN NOV, MAJORITY BANDED AT BIRTH, SOME BANDED IN NOV/DEC, APR/MAY BORN	SARGEANT CATTLE CO. LTD.		

7	A7	14 MXD HEIFER	754.5	10563	12KM	SILAGE, STRAW & 5LBS BARLEY /DAY, WEANED 1ST WEEK NOV	VISTA ONCE, 8 WAY W/SOMN, SAFEGUARD, CLEAN UP 2 & COMPNENT IMPLANT IN NOV, MAJORITY BANDED AT BIRTH, SOME BANDED IN NOV/DEC, APR/MAY BORN	SARGEANT CATTLE CO. LTD.
8	B1	10 MXD HEIFER	669.8	6698	12KM	SILAGE, STRAW & 5LBS BARLEY /DAY, WEANED 1ST WEEK NOV	VISTA ONCE, 8 WAY W/SOMN, SAFEGUARD, CLEAN UP 2 & COMPNENT IMPLANT IN NOV, MAJORITY BANDED AT BIRTH, SOME BANDED IN NOV/DEC, APR/MAY BORN	SARGEANT CATTLE CO. LTD.
9	B2	3 MXD HEIFER	527	1581	12KM	SILAGE, STRAW & 5LBS BARLEY /DAY, WEANED 1ST WEEK NOV	VISTA ONCE, 8 WAY W/SOMN, SAFEGUARD, CLEAN UP 2 & COMPNENT IMPLANT IN NOV, MAJORITY BANDED AT BIRTH, SOME BANDED IN NOV/DEC, APR/MAY BORN	SARGEANT CATTLE CO. LTD.
10	B3 RING	4 MXD HEIFER	0	0	12KM	SILAGE, STRAW & 5LBS BARLEY /DAY, WEANED 1ST WEEK NOV	VISTA ONCE, 8 WAY W/SOMN, SAFEGUARD, CLEAN UP 2 & COMPNENT IMPLANT IN NOV, MAJORITY BANDED AT BIRTH, SOME BANDED IN NOV/DEC, APR/MAY BORN	SARGEANT CATTLE CO. LTD.
11	B4,B5	16 MXD HEIFER	749.62	11994	25KM	CEREAL SILAGE /HAYLAGE & 8LBS BARLEY, WEANED IN LATE NOV	VISION 8 W/SOM, BOVISHIELD FP5, SAFEGUARD & CLEAN UP 2 IN SPRING & FALL, BANDED AT BIRTH	F M LIVESTOCK CO. LTD.
12	C1,C2,C3	31 MXD HEIFER	700.29	21709	25KM	CEREAL SILAGE /HAYLAGE & 8LBS BARLEY, WEANED IN LATE NOV	VISION 8 W/SOM, BOVISHIELD FP5, SAFEGUARD & CLEAN UP 2 IN SPRING & FALL, BANDED AT BIRTH	F M LIVESTOCK CO. LTD.
13	C4	6 RWF HEIFER	624.83	3749	25KM	CEREAL SILAGE /HAYLAGE & 8LBS BARLEY, WEANED IN LATE NOV	VISION 8 W/SOM, BOVISHIELD FP5, SAFEGUARD & CLEAN UP 2 IN SPRING & FALL, BANDED AT BIRTH	F M LIVESTOCK CO. LTD.
14	C5	6 MXD HEIFER	649.17	3895	25KM	CEREAL SILAGE /HAYLAGE & 8LBS BARLEY, WEANED IN LATE NOV	VISION 8 W/SOM, BOVISHIELD FP5, SAFEGUARD & CLEAN UP 2 IN SPRING & FALL, BANDED AT BIRTH	F M LIVESTOCK CO. LTD.

15	C6	3 MXD HEIFER	473.67	1421	25KM	CEREAL SILAGE /HAYLAGE & 8LBS BARLEY, WEANED IN LATE NOV	VISION 8 W/SOM, BOVISHIELD FP5, SAFEGUARD & CLEAN UP 2 IN SPRING & FALL, BANDED AT BIRTH	F M LIVESTOCK CO. LTD.
16	C7 RING	4 MXD MIXED CATTLE	0	0	25KM	CEREAL SILAGE /HAYLAGE & 8LBS BARLEY, WEANED IN LATE NOV	VISION 8 W/SOM, BOVISHIELD FP5, SAFEGUARD & CLEAN UP 2 IN SPRING & FALL, BANDED AT BIRTH	F M LIVESTOCK CO. LTD.
17	404	6 RMX HEIFERETTE	1126	6756	25KM	CEREAL SILAGE /HAYLAGE & 8LBS BARLEY, WEANED IN LATE NOV	VISION 8 W/SOM, BOVISHIELD FP5, SAFEGUARD & CLEAN UP 2 IN SPRING & FALL, BANDED AT BIRTH	F M LIVESTOCK CO. LTD.
18	406	3 RMX STEER	845.67	2537	15KM	BARLEY+WHEAT SILAGE, GRASS HAY & BRONCO MINERAL, WEANED DEC 15	VISTA ONCE, 8 WAY W/SOM & IVERMECTIN IN SPRING & WEANING, NO IMPLANTS BANDED, MAY/JUN BORN	BEAGLE SIMMENTALS
19	408	5 RMX STEER	747.8	3739	15KM	BARLEY+WHEAT SILAGE, GRASS HAY & BRONCO MINERAL, WEANED DEC 15	VISTA ONCE, 8 WAY W/SOM & IVERMECTIN IN SPRING & WEANING, NO IMPLANTS BANDED, MAY/JUN BORN	BEAGLE SIMMENTALS
20	410	6 RMX HEIFER	884.33	5306	15KM	BARLEY+WHEAT SILAGE, GRASS HAY & BRONCO MINERAL, WEANED DEC 15	VISTA ONCE, 8 WAY W/SOM & IVERMECTIN IN SPRING & WEANING, NO IMPLANTS BANDED, MAY/JUN BORN	BEAGLE SIMMENTALS
21	412	11 RMX HEIFER	842.18	9264	15KM	BARLEY+WHEAT SILAGE, GRASS HAY & BRONCO MINERAL, WEANED DEC 15	VISTA ONCE, 8 WAY W/SOM & IVERMECTIN IN SPRING & WEANING, NO IMPLANTS BANDED, MAY/JUN BORN	BEAGLE SIMMENTALS
22	416	14 RMX HEIFER	764.21	10699	15KM	BARLEY+WHEAT SILAGE, GRASS HAY & BRONCO MINERAL, WEANED DEC 15	VISTA ONCE, 8 WAY W/SOM & IVERMECTIN IN SPRING & WEANING, NO IMPLANTS BANDED, MAY/JUN BORN	BEAGLE SIMMENTALS
23	418	3 RMX	758.33	2275	15KM	BARLEY+WHEAT SILAGE, GRASS HAY & BRONCO	VISTA ONCE, 8 WAY W/SOM & IVERMECTIN IN SPRING &	BEAGLE

		HEIFER				MINERAL, WEANED DEC 15	WEANING, NO IMPLANTS BANDED, MAY/JUN BORN	SIMMENTALS
24	420	11 MXD STEER	631.36	6945	35KM	HAY & OATS, WEANED EARLY DEC	8 WAY IN SPRING, IVOMEC IN FALL, BANDED IN SPRING,AGE VERIFIED, BRITISH/LIMO X	DALE & KATHY DUNCAN
25	422	15 MXD STEER	578.8	8682	35KM	HAY & OATS, WEANED EARLY DEC	8 WAY IN SPRING, IVOMEC IN FALL, BANDED IN SPRING,AGE VERIFIED, BRITISH/LIMO X	DALE & KATHY DUNCAN
26	424	3 RWF STEER	650	1950	35KM	HAY & OATS, WEANED EARLY DEC	8 WAY IN SPRING, IVOMEC IN FALL, BANDED IN SPRING,AGE VERIFIED, BRITISH/LIMO X	DALE & KATHY DUNCAN
27	424A	3 RMX STEER	533.33	1600	35KM	HAY & OATS, WEANED EARLY DEC	8 WAY IN SPRING, IVOMEC IN FALL, BANDED IN SPRING,AGE VERIFIED, BRITISH/LIMO X	DALE & KATHY DUNCAN
28	311	11 BMX HEIFER	622.09	6843	35KM	HAY & OATS, WEANED EARLY DEC	8 WAY IN SPRING, IVOMEC IN FALL, BANDED IN SPRING,AGE VERIFIED, BRITISH/LIMO X	DALE & KATHY DUNCAN
29	311A	12 RBF HEIFER	603.42	7241	35KM	HAY & OATS, WEANED EARLY DEC	8 WAY IN SPRING, IVOMEC IN FALL, BANDED IN SPRING,AGE VERIFIED, BRITISH/LIMO X	DALE & KATHY DUNCAN
30	407	9 MXD HEIFER	649.33	5844	35KM	HAY & OATS, WEANED EARLY DEC	8 WAY IN SPRING, IVOMEC IN FALL, BANDED IN SPRING,AGE VERIFIED, BRITISH/LIMO X	DALE & KATHY DUNCAN
31	405	9 MXD HEIFER	564.22	5078	35KM	HAY & OATS, WEANED EARLY DEC	8 WAY IN SPRING, IVOMEC IN FALL, BANDED IN SPRING,AGE VERIFIED, BRITISH/LIMO X	DALE & KATHY DUNCAN
32	403 RING	5 MXD MIXED CATTLE	0	0	35KM	HAY & OATS, WEANED EARLY DEC	8 WAY IN SPRING, IVOMEC IN FALL, BANDED IN SPRING,AGE VERIFIED, BRITISH/LIMO X	DALE & KATHY DUNCAN
33	PALPATED HFRS AND PAIRS	1	0	0				UNKOWN
34	208	8 RBF HEIFER	876	7008	24KM	6LB BARLEY, 1LB STRAW & 3LBS SILAGE	EXPRESS 5 W/SOM, COVEXIN 8 & IVOMEC IN DEC	TONY MEYER
35	209	8 RBF	831.12	6649	24KM	6LB BARLEY, 1LB STRAW & 3LBS	EXPRESS 5 W/SOM, COVEXIN 8	TONY

		HEIFER				SILAGE	& IVOMEC IN DEC	MEYER
36	210	11 RBF HEIFER	858.45	9443	24KM	6LB BARLEY, 1LB STRAW & 3LBS SILAGE	EXPRESS 5 W/SOM, COVEXIN 8 & IVOMEC IN DEC	TONY MEYER
37	211	7 RMX HEIFER	863.29	6043	24KM	6LB BARLEY, 1LB STRAW & 3LBS SILAGE	EXPRESS 5 W/SOM, COVEXIN 8 & IVOMEC IN DEC	TONY MEYER
38	212	10 RED HEIFER	883.2	8832	24KM	6LB BARLEY, 1LB STRAW & 3LBS SILAGE	EXPRESS 5 W/SOM, COVEXIN 8 & IVOMEC IN DEC	TONY MEYER
39	213	9 RED HEIFER	843.33	7590	24KM	6LB BARLEY, 1LB STRAW & 3LBS SILAGE	EXPRESS 5 W/SOM, COVEXIN 8 & IVOMEC IN DEC	TONY MEYER
40	304	4 RBF HEIFER	903.25	3613	24KM	6LB BARLEY, 1LB STRAW & 3LBS SILAGE	EXPRESS 5 W/SOM, COVEXIN 8 & IVOMEC IN DEC	TONY MEYER
41	304A	3 RED HEIFER	853.67	2561	24KM	6LB BARLEY, 1LB STRAW & 3LBS SILAGE	EXPRESS 5 W/SOM, COVEXIN 8 & IVOMEC IN DEC	TONY MEYER
42	306	10 BLK HEIFER	970.5	9705	12KM	2-3LBS ROLLED BARLEY & CEREAL SILAGE, WEANED NOV 1	VISTA 5 & 8 WAY IN SPRING & FALL, NO IMPLANTS, OPEN HFRS, ANGUS X	CRAIG BUTCHER
43	308	10 BMX HEIFER	897.2	8972	12KM	2-3LBS ROLLED BARLEY & CEREAL SILAGE, WEANED NOV 1	VISTA 5 & 8 WAY IN SPRING & FALL, NO IMPLANTS, OPEN HFRS, ANGUS X	CRAIG BUTCHER
44	516	5 MXD HEIFER	720.8	3604				LUTZ LOHMANN
45	517	6 MXD HEIFER	640.17	3841				LUTZ LOHMANN
46	518 RING	1 RED HEIFER	0	0				LUTZ LOHMANN